KEDAAAIO 46 { 2° MEPOX}

1] Avvo pe paon to 10:

7+8= 5+6= 9+4=
P P
7+5= 6+7= 8§+ 6=
9+8= 5+9= 6+8= J U‘ &
A ot 1

2} ZKEQTONOL TO TOPOKAT® drhd abpoiopata:

2+2= 3+3= 5+5= I=+1= 1+1=
6+6= 9+4+9= 8+8= 4+4= 10+10=

3 } Adve Ti¢ Topakatm TpaEels. Ouuapot TIc SEKAOES Kal TIC LOVADES:

10+2= 10+3= 10+4= 10+7= 10+9=
20+7= 30+9= 40+ 8 = 20+ 6= 30+ 4 =
13-3= 12-2= 14 -4 = IR -8= 19-9=
28-8= 45-5= 32-2= 43 -3 = 27-7=

4} AVvVO Kol OVTEC PE OTTOL0V TPOTO OV Eival EVKOAO:

5+4= 7+2= 3+4= 4+2= 6+3=
15+4= 17+2= 13+4= 14+2= 16+3=
35+4= 27+2= 33+4= 44+ 2 = 36+3=
25+4= 37+2= 23+4= 24 +2 = 26+3=
9-4= 6-5= 8-5= 5-3= 7-3=
29-4-= 36-5= 48 - 5= 35-3= 47-3=
19-4= 26-5= 38-5= 45-3= 27-3=
49 -4 = 16 -5= 18-5= 25-3= 37-3=
39-4= 46 - 5= 28-5= 15-3= 17-3 =
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5} Zopminpaove toug TopaKaTo TiVOKES:

7} Yrmoroyilo Kot cOpmAnpove Toug aprtpois mov Aeimovv:

34 e =4 T+2= e 6+3 =
.5 — 24 17+ -——-=19 o =29
B e =3 TOER - (0 - —

8} IMooa civan;
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